Counting through negative numbers (1)

Learning objectives + 3 X
| can count backwards through zero into negative numbers. 34 = 8

1.5 +

To solve the joke, work out the number that should go in the circle. Then use the grid to
find the letter that goes with each answer and write it on the line. The first one is done for
you.

414|513 2]-9|3|[10]0]6|11]12]-8]-4]-7

H L D N R E O G P F I S T A

What is the best way to
communicate with a fish?

@,-12, 11, -10 Q,-s, 7. -6 Q,-g, 8, -7 Os 4, -3
Q, 11, -10, -9 3.2, - Q .6, -5, -4
Q,-4,-3,-2 Q,-11,-1o,-9 Q,-1,o,1 Qz 1,0

Year 4 - Number and place value
Count backwards through zero to include negative numbers.
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